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Given the Tridiagonal Matrix Algorithm below, write the correct equations for beta and gamma in the box below.

‘ n = number of unknown T’s

‘ d = RHS matrix

Dim a, b, c, d(10), Tnew(10), T(10)

.

.






Sub Tridiag(n, d, Tnew)  
 

Dim beta(100), gamma(100) 
 

beta(1) = b
 

gamma(1) = b / beta(1) 
 

For i = 2 To n
 

beta(i) = b - a * c / beta(i-1)
 

gamma(i) = (d(i) – a * gamma(i - 1)) / beta(i)
 

Next i
 

Tnew(n) = gamma(n)
 

For i = n - 1 To 1 Step –1
 

Tnew(i) = gamma(i) - c * T(i + 1) / beta(i) 
 

Next n
 

End Function
 























